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Name: __________________________________



1
What are the coordinates of [image: image1.png]


, the image of [image: image2.png]A(-3,4)



, after a rotation of 180º about the origin?
	1)
	[image: image3.png]




	2)
	[image: image4.png]




	3)
	[image: image5.png]




	4)
	[image: image6.png]






2
If point [image: image7.png]


 is rotated counterclockwise 90° about the origin, its image will be point
	1)
	[image: image8.png]




	2)
	[image: image9.png]




	3)
	[image: image10.png]




	4)
	[image: image11.png]






3
What are the coordinates of [image: image12.png]


, the image of [image: image13.png]


, after a counterclockwise rotation of 90º about the origin?
	1)
	[image: image14.png]




	2)
	[image: image15.png]




	3)
	[image: image16.png]




	4)
	[image: image17.png]






4
What is the image of point [image: image18.png]


 under the rotation [image: image19.png]Roge



 about the origin?
	1)
	[image: image20.png]




	2)
	[image: image21.png]




	3)
	[image: image22.png]




	4)
	[image: image23.png]






5
The transformation [image: image24.png]Roge



 maps point [image: image25.png]


 onto the point whose coordinates are
	1)
	[image: image26.png]




	2)
	[image: image27.png]




	3)
	[image: image28.png]




	4)
	[image: image29.png]






6
What is the image of [image: image30.png]


 under [image: image31.png]Roge



?
	1)
	[image: image32.png]




	2)
	[image: image33.png]




	3)
	[image: image34.png]




	4)
	[image: image35.png]






7
The coordinates of point P are [image: image36.png]


.  What are the coordinates of the image of P after [image: image37.png]Roge



 about the origin?
	1)
	[image: image38.png]




	2)
	[image: image39.png]




	3)
	[image: image40.png]




	4)
	[image: image41.png]






8
What are the coordinates of the image of [image: image42.png]P(-2,5)



 after a clockwise rotation of 90º about the origin?
	1)
	[image: image43.png]




	2)
	[image: image44.png]




	3)
	[image: image45.png]




	4)
	[image: image46.png]






9
What are the coordinates of the image of [image: image47.png]


 after a counterclockwise rotation of 90º about the origin?
	1)
	[image: image48.png]




	2)
	[image: image49.png]




	3)
	[image: image50.png]




	4)
	[image: image51.png]






10
What is the image of the point [image: image52.png]


 on rotation of 90° about the origin?

11
What is the image of the point [image: image53.png]


 under a clockwise rotation of 90° [image: image54.png]


 about the origin?

12
The point [image: image55.png]


 is rotated 180º about the origin in a clockwise direction.  What are the coordinates of its image?

13
What is the image of [image: image56.png]Rope(1,2)



?

14
Write the coordinates of [image: image57.png]


, the image of [image: image58.png]


 after a clockwise rotation of 180° about the origin.

15
What is the image of [image: image59.png]


 under a counterclockwise rotation of 90°?

16
The point [image: image60.png]


 is rotated 180º about the origin in a counterclockwise direction.  What are the coordinates of its image?

17
What is the image of [image: image61.png]


 under a counterclockwise rotation of 180°?

18
Point A is rotated 180º in a counterclockwise direction about the origin.  If the coordinates of A are [image: image62.png]


, what are the coordinates of [image: image63.png]


, its image?

19
If point [image: image64.png]


 is rotated [image: image65.png]ape



 about the origin, what is the image of P?

20
The coordinates of the endpoints of [image: image66.png]BC



 are [image: image67.png]


 and [image: image68.png]


.  Under the transformation [image: image69.png]


, the image of [image: image70.png]BC



 is [image: image71.png]


.  State the coordinates of points [image: image72.png]


 and [image: image73.png]


.
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